B K 3

DRAULIC CHUCK

> H SERIES

[I /4 }lll{l f ,lly
N u
f L % } HIGH SPEED THROUGH-HOLE ROTARY HYDRAULIC
LLaLR J II VY IR/ w U v
CYLINDER A1 B1
J1 J1 R1 X L z
P1
A
e —7
17 / 4/‘5 H
2x2-S1 E(, f EF_
= == —J = |
ONBES.: LEEANH S, BRANE (MAXISMmER ) , B= (MA ! T =
A
i = y : = N3l 50 ) S
X4.5kgREWN ) SERNERNMEREERE, EREEMNEE, ooz 92 A I ol | Zl e o =
N . . ) NN R R Y N HERIPRIENNEREE
OFEAMNEBRTL: EUEMNHRAFTRE20%WERETL, AIEMMMNEE 5 z sle 9|Y1 Va ) S L|1| ct S
EHWER, 7 | l—l|_|4ﬁ
~ Ry Y -
OREBE: BLEOMNABRFEINEE., - 77
w1 / b i W
© Compact and light weight : it E1/ \_H
Comparing with the regular product, it is compact (reduced to MAX 95mm) i i \i
and lighter (weighted MAX 4.5kg). = i I &
5 0 (H0928 PT3/4") K1
© It's more stable to reduce the burden of the machinery at high speed turning. | 1nE
) ) . @33 AB
The largest bore : Comparing with the regular product, it has about 20% larger
© bore diameter forutilizing the capacity of machinery.
© The safety structure : It can retain the gripping force by check valve. M%z'il Al Bl Ci E1 F1 Gl HI J K L1 M1 NP1 Qi R1 S T U1 WA X1 Y
H-0928 9 108 25 8-M6x10 6-M8x15 110 76 58 44 15 53 4 4-M4ax17 5 PT1/4' 6 116 M34xi5 32 15
H-1036 11 1205 25 6-M5x10 6-M10x17 126 68 53 15 64 4 6Ms5x12 5 PT3/8 6 136 M4dxl5 42 14
H-1038 11 1205 25 6-M5x10 6-M10x17 126 88 68 53 15 64 4 6-M5x12 5 PT3/8 6 136 Mxis 42 14
H-1236 11 1265 25 6-M6x12 12-M10x20 135 98 76 47 15 38 76 4 4-M5x12 6 PT1/2' 6 169 Ms52x15 50 14
H-1246 11 1265 30 6-M6x12 12-M10x20 135 98 76 47 15 50 76 4 4-M5x12 6 PT1/2° 6 169 M52x15 50 14
H-1546 11 1335 30 6-M6x12 12-M10x20 145 110 8 47 15 50 85 4 4-Mexi2 7 PT1/2° 6 18 Ms8&l5 56 135
H-1552 11 1335 30 6-M6x12 12-M10x20 145 110 86 47 15 55 8 4 4-Mex12 7 PT1/2' 6 188 M58x15 56 135 O
H-1868 175 1525 35 6-M6x12 12-M10x20 1665 155 101 47 15 70 108 4 4-Méx12 75 PT1/2° 6 215 M84x2 81 125
H-1870 175 1525 35 6-M6x12 12-M10x20 1665 155 101 47 15 75 108 4 4-Mex12 75 PT1/2' 6 215 M2 81 125 g
H-1875 175 1525 35 6-M6x12 12-M10x20 1665 155 101 47 15 80 108 4 4-Méx12 75 PT{/2° 6 215 M84x2 81 125
H-1878 175 1525 35 6-M6x12 12-M10x20 1665 155 101 47 20 82 108 4 4-Mex12 75 PT1/2' 6 215 M8 81 125 >
H-2078 21 1665 35 6-M6x12 12-Mi2x24 182 165 110 47 20 84 120 4 4-Méxi2 7 PT1/2° 6 240 MI9x2 9% 20
moE EEEE 7 ST A/ BRI R AR EE(TRE %kﬁmm EEEmE  (Eeg | BE anE H-2085 21 1665 35 6-M6x12 12-M12x24 182 165 110 47 20 89 120 4 4-Méx12 7 PT1/2° 6 240 M¥x2 96 13 _I
Piston Dia Piston Area (cm®) Max. Draw Bar Force KN(kgf) ~ Piston Stroke ~Max. Operating Pressure 5 Weight Total Leakage - N
Model (mm) Bt S ol Ste St Giiite B0l Sl (W) MPal(kgf / cm’) maxr.p.m  kgem (ka) e H-2091 21 1665 35 6-Méx12 12-Mi2x24 182 165 110 47 15 95 120 4 4-Mexi2 7 PT1/2° 6 240 M99x2 9% 13 m
% 32/483 H-2511 27 1845 45 6-M6x12 12-M16x32 197 206 129 55 20 123 160 5 4-Méxi2 7 PT1/2" 6 294 _ 1346 _
H-0928 58.2/48. 19.9(2029)/ 18(1835) 10 4.0 (408) 8000~ 0.006 5.5 s H-2511S 21 1695 45 6-Mex12 12-M16x32 192 206 132 55 20 123 160 5 4-Mexi2 7 PT1/2 6 204  _ 1346 _ —
H-1036 105 71/68.5 26(2651) / 25(2549) 15 4.0 (40.8) 8000 0.011 8.6 3
H-1038 105 71/66 26(2651) /24.5(2498) 15 4.0 (40.8) 8000 0.011 8.5 3 Tk v v w W
H-1236 125 100/89 38(3875) / 33(3365) 15 4.0 (40.8) 7000  0.019 13 3 Modet € D E F G H Jfc ) NP @ e | w ) U (e | mn | e i X z
H-1246 125 100/89 38(3875) / 33(3365) 15 4.0 (40.8) 7000 0.019 12 3 H-0928 120 100 80 65 44 M38x15 28 25 63 44 59 76 90 105 151 14 4 35 25 3 5 n
H-1546 155 161/154 60(6118)/57.8(5894) 22 4.0 (40.8) 6200 0.056 18 3.9 H-1036 136 115 100 65 48 M>d5 36 32 71 55 73 88 104 115 1745 15 0 a9 24 25 5 -
v H-1552 155 161/150 60(6118)/56(5710) 22 4.0 (40.8) 6200 0.052 16.8 3.9 H-1038 136 115 100 65 50 Maaxi 5 38 32 71 55 73 88 104 115 1745 15 0 39 24 25 5 -
> H-1868 180 198/197 74(7546) / 73.5(7495) 25 4.0 (40.8) 4700 0.098 28 4.2 H-1236 155 130 100 80 65 (\uoxi5 36 36 76 64 8 98 118 114 179 15 0 40 25 4 8
H-1870 180 198/183 74(7546) /69(7036) 25 4.0 (40.8) 4700 0.095 26.5 4.2 H-1246 155 130 100 80 65 M55x2 46 36 76 64 8 98 118 114 179 15 0 40 25 4 5 I I I
m H-1875 180 198/183 74(7546) / 69(7036) 25 4.0 (40.8) 4700 0.095 26 4.2 H-1546 190 170 130 85 65 5500 46 36 84 73 9 114 137 130 1905 22 0 475 255 35 5
m H-1878 180 198/183 74(7546)/69(7036) 25 4.0 (40.8) 4700 0.095 25.5 4.2 H-1552 190 170 130 85 70 (pgox2 52 36 84 73 96 114 137 130 1905 22 0 475 255 35 5 QD
H-2078 205 262 /234 98(9993) / 88(8973) 23 4.0 (40.8) 3800 0.15  36.5 45 H-1868 215 190 160 120 85 |75x0 68 36 95 98 121 140 165 159 225 25 O 50 25 3 5
H_2085 205 252 /9234 94(9585) / 88(8973) 30 4.0 (40.8) 3800 0.15 37.5 4.5 H-1870 215 190 160 120 95 M78x2 70 36 95 98 121 140 165 159 225 25 0 50 25 3 5 <
= H-2091 205 252/234 94(9585) / 88(8973) 30 4.0 (40.8) 3800 015 37 45 H-1875 ;12 128 123 };g gg Mesxe 75 36 95 98 121 140 165 159 225 25 O 5 25 3 5 (a8
_— H-2511 250 348/336 124(12644) / 120(12236) 23 4.0 (40.8) 2800  0.45 57 7 H-1878 Me7xe 78 36 95 98 121 140 165 159 25 25 0 50 25 3 5
N H-25115 250 348336 124(12644) / 120(12236) 23 4.0 (40.8) 2800 041 53 7 B I e I I I B I L I e S 5
' : : H-2085 240 215 180 140 110 |Mo3x2 85 36 104 108 138 158 182 177 248 30 0 55 25 3 5
052 H-2091 240 215 180 140 110 Mifoox2 91 36 104 108 138 158 182 177 248 30 0 55 25 3 5
= < H-2511 310 275 230 166 140 Mi{30x2 117536 101 148 178 190 232 215 290 24 1 38 15 3 6
H-2511S 310 275 230 166 140 M130x2 117536 101 148 178 190 232 215 258 24 1 38 15 3 6
>3
T% c REBENERAERN, BRABITHEM Subject to technology changes without prior information  REBENERRERN, BASITES Subject to technology changes without prior information

+ JEREE KW ET# Non-standard requirements can be made + JEEFRAFT#HM Non-standard requirements can be made




